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(@) Candidates are ailowed time 10 fill up the basic information
about themselves in the OMR sheel such as Name,
Roll No., ete.

(b) After this, Question Booklet will be given to the candidates.

Tally the number of pages alongwith no. of questions printec
on cover of the booklet. In case of any discrepancy please
get the booklet changed immediately.

(c) Answering of question s not allowed in the given exira time.
Two hours time will be given for answering.

(@) On Answer Sheet. suppiied 0 you writa/put Roll No., Question
Booklet No.. Set of Question Bookiet (A, B, C ¢r D). Name of
Candidate. Sighature of Candidate, Date of Exam , n Black
Ball Point Pen

(b) On Answer Sheet fill in your Roll No., Question Booklet Set
and Centre Code e'c. by darkening corresponding
circle O with Black Ball Point Pen

(¢} On Answer Sheet only the answers (0 nuestions are 10 De
marked. The instructions tor this are available on the back
cover page of this Question Booklet.

Optical Mark Reader (OMR} machine prepares the result by reaaqing

the entries made in the circles O with the Black Ball Point Pen

on the Answer Sheet, hence the candigates must be extremely
careful in marking these entries and must not commit errors.

Please do not write/mark on Answer Sheet anything exira except

what is asked for.

USE OF ANY CALCULATOR, LOG TABLES, MOBILE PHONE
ETC. IS PROHIBITED.

Rough work should be done on the blank pages or In the space
provided for this on each page of this Question Booklew Extra
paper wiii not be supphed

If there is ary sort of mistakessdiscrepancy {in Hindi or English
Version of the guestion) either of printing cr of factual nature
then regarding this Commission’s decision will be final.

(For instructions regarding marking the answers please see the
back cover page of this Question Booklet)

CGP - 17 — 02

e ¥ e e
1Number of Questions in Booklet

)

Page No. 1

100 T8 |2 W ot 200
Time Hours Totai Marks
gqfrerferat & fero dw

(. (%) srvaRfE® o0 TR, IR o wiafeai @ A, U= 7.

wfe i 3 for arfifaa awa e R o
(@) = f3 1w 3 qve vl R - g & s
T - TR 3 TR AU We o) S T e 36 S W
S i s | A ge A e Ay AT S - |
AT "ed o |
() fen T atfrft T § IR SifRd T 1 ST T R I
+ifra 0 & fou &) w9 = gy fea S | :
31 ¢ Tear -giie HehTe T TTgue U ST, T -
=1 30T, T - F1 4 (A, B, C 591 D), Tamefi =
Tﬂn,nﬁﬁmﬁféﬁmmﬁmqﬂmﬁﬁﬁx.ﬁﬁaﬁ |
(@) Ir-¥ied Ta . v - Qe 1 HE, F75 I e Tl

T O 1 STel ST igue U © Flef1 L |
(1) T3P B Tl ¥ I sifa @ € | 38 wan ¥ few
v - e & o8 fed TR |
| qffeee TF =t (OMR) WA Jeat-vitz 1 et AT ATS0e
R i T Oy #) Tea Tamhd FA U 8, 2T:
qﬁaﬁﬁiﬁﬁﬁaﬁmm%%éMJHEﬁgﬁﬁﬁaﬁm
g g - W S T S qfe A H

e~ fre we Frerife Tem o = 1 whafeeai o o e $ A

famd /3ifra 1 0

' Freeft ot TR 3 HEReIet, A e Ud ATaTse Wi A
wan afia 8 |

. mmﬁsﬁmﬁﬁm%ﬁuﬁm@?ﬁqﬁﬁﬁmwmq@ﬁ
Rrythra s TRt vt 7o e fl S

‘ uﬁﬁﬁw(m#%ﬁﬂmwaﬁﬁﬁwﬁ)ﬁﬁmm@
éﬁﬂwmﬁwmzﬁg&ﬁ,ﬁlwwﬁmmﬁv&

st g |

(37 sifame X 3 Fere o STy — g fGerent o oY e U W
o o g =i < )

Set-A




(U m ie e ps: / / www. developindiagroup.co.in/

1 Taofafes 8 8 F19d 99T g i | 1.  Which of the following is charactenstics
a2 7 of effective communication 7
a \ a) to respond immediate to the
a) TEVT & () I G TG <1 asion
b) FH & Fu FWa 3 qeg 4 fawg & b) to inform the matter in minimum
giad T cost and minimum time
AT e | c) to transmit the right information
°) Fﬁﬁm " at the right time to the nght person
= | o d) to understand the clues given by
d)ﬁﬂ%mﬁﬁﬂﬁuﬁﬁw the sender
e) TIH | @13 e e) none of these
2. quTelt T HET FI9Te & w6 A & 2. For effective interpersonal
SlIY communication one must not be
a) Ffrma g uige a) Specific
b) Ha ¥ b) Timely
c) TqTe c) Clear
d) deRETd d) Valid
e) AU+ e) General
https://www.developindiagroup.co.in/
3. AT+ 3. Interpersonal skills
a) wfre g 3utfla i 511wl 2 a) can be acquired by training
| E. b) are inherited in nature
0) 1 AT § c) can be both acquired and
IAd 3 JTaTfEs 1 2 inherited
. o s : d) canbe sometimes acquired and
d) AR F 3 |tga||§|a,‘5;‘|%% sometimes inherited
e) 37U | I3 el e) none of these
4. TeF T3 1 37w ST Afad hIeTel] Jad 4. People with good interpersonal skills
sifaadi &1 ATavTFRdT & FTIh are required in an organisation because
a) ¥ 31firer IcATEARRI B @ a) They are more productive
' : b) They look for solutions to
b) ¥ GHEAIHT T GHIYTH GiSd @ Sroblems
c) 3 amﬁ Rl Wi i c) They have positive attitude
T ® towards their work
d) 39 |l d) All of the above
e) T8 ° &I Azl e) None of these
CGP-17-02= Page No. 4 Set-A
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5. @4 g é}m ! JTTTIOT, 9TaH1 5. The ability to and manage the
IEN & TS G4 I &7 motivations, emotions and behavicur
JRETRE I 1 99T F971 2 | of oneself and others results in

a) Fevm | | effective interpersonal skills.
b) T a) command
o) S b) read
C) write
d) dre d) speak
e) 39U " G I8 el e) none of the above
6. ffcifiad @ @ e w9 gruwor i 6. Which of the following statement is
& fore ot 7 2 7 | not correct about communication
a) 77 T TR A 2 procees® .
a) Itis a dynamic process
b) IE U wWds ufshar 2 | b) It is a static process
C) TSIV &hadd fgumfl weywo § & c) Feedback is possible in two-way
g 2 communication
d) HE FEINOT Gfh 1 9w 2 7 ch:ﬂ)eri?r?fri;ttigi E?c:tczfss
e) 9 H IS e e) None of these
https:/ /www.developindiagroup.co.in/
7. = 0 @ =91 GER A9 ° o1y q8 8 2 7. Which of the following is not a

communication barrier ?

|
a) HIaTcHehd] |
| a) Emotionality

b) Hierear
n b) Conciseness
C) HIHE Foarrcll c) Limited vocabulary
d) aftsat =1 wa d) Fear of superiors
e) HaH1 shl HTHahdl e) Information overload
8. T FI gAd THY eH I8 & i1 =Ry 8. While listening to others one should
a) I not
A e — a) Respond
* _ b) Evaluate the message

z) 5“ T AH W e c) Nod or shake head
d) Ha i A d) Interpret the message

Khss gcferan =1 & e) Make quick reaction

CGP - 17 - 02 : Page No. 5 : Set-A
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9. A % TIH W I & ? 9. The missing number in place of A is
|' 5 \ 2|4 5 24
4 47 4| 47
2| 53] 2| 5|3
1830 A 18 |30 | A
a) 42 a) 42
b) 43 b) 43
c) 32 c) 32
d) 33 : d) 33
e) 394 § F13 el e) None of these
10. X &1 et fawea gm '~ 10. Correct option for X is
8

ttps:/ /www.developindiagroup.co.in/

a) 10 a) 10
b) 15 ' b) 15
e)] 32 g 32
d) 12 d) 12
e) 38 I &I A8 e) None of these
11. 3 2001 1 fra-fra arftE F1 gER 11, On what dates in April 2001, did
o | Wednesday fall ?
a) T, 313, T5e, IM3H, 3™ a) 1%t gth 15th 22nd 29th
b) 2, N, AieTe, a3, d1G p) 2nd, goth 16th 23rd 30
c) 9N, WNE, 33NE, T=H™ c) 4th, 11th 1gth 25th
d) 9, z4, T8, J&™ d) 3rd q1oth 17th 24t
e) 3T 4 ¥ FiIg &l e) None of the above
CGP - 17 - 02~ Page No. 6 Set-A
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12. I INK 1 &g 91411 ® 991 RED &1
FIT 1854 2, a1 PEN &1 F18 &I

a) 16514
b) 14176
c) 14562

d) 151614

e) ITF | § Fig T

L |
13. 22,33 83 qu1 9° VU e 9 G B
1
a) 9°
1

b) 88

e) I H I FI3 78]
https://www.deve

14, 7 gl x, y 3R z &1 3fad xy 21 99
Z TSR B

12. IfINKiscodedas 91411 and RED is

coded as 1854, then PEN will be

coded as

a) 16514
h) 14176
c) 14562
d) 151614

e) None of the above

13. The greatest number amongst

I 1
22 33 88 and 99 is
1
a) g°
]
8

b) 8

‘I
3

c) 3

d) 22

e) None of the above
lopindiagroup.co.in/

14. The average of three numbers x, y

and z is xy. Then z is equal to

a) 3xy—x-—y a) 3xy —x-—-y
b) Xy —x—y | b) xy —x-y
!
C) 3Xy + X +Y I C) Xy + X +Yy
d) 3xy-(x-y) d) 3xy —(x-y)
e) I H | HIg & e) None of the above
CGP - 17 - 02+ Page No. 7 Set-A
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15. fohehz ae &1 ffima ameft wer & Tt g 15. The price of a cricket bat is reduced
THOTTHY h1Hd &1 ST 10 % 27 feam T by nalf and the resulting price is again
Tt a0 Fiag s Figg 7 5 reduced by 10 %. What percentage
qfreTd gl 7 of the original price is the final price ?

a) 10 % | a) 10 %
b) 30 % | b 30 %
C) 45 % | | C) 45 %
d) 65 %% d_i 65 %
e) ITFd § ¥ FTS & | e) None of the above

16. A, B 3 C = @iy e/t 18 &9 o 16. A. B and C together earmn Rs. 2,700
2,700 ¥ FAM &, A 3 C T in 18 days, A and C together earn
10 ¢34 940 ¥R FHd &, B 3t C frear. | Rs. 940 in 10 days, B and C together
20 &A1 1,520 93 074 &, 91 C 1 0% | earn Rs. 1,520 in 20 days. Then the
feq &t F7d 2rf " daily earning of C is

a) 20%. | a) Rs. 20

b) 40%. i 5) Rs. 40

c) 10% | | c) Rs. 10

d) 70% 5 d) Rs. 70

e) 39UEd H | I3 e _ e) None of the above
https://www.developindiagroup.co.in/

17. T e qd it fen & 7 5.t =oran 2 17. A man walks 7 km eastwards, turns
it #Y g1 ™ TR 3 .1, =rodr @ | rightand walks 3 km and further tums
foR e g1y W ge 11 .t 9@ ) | right and walks 11 km. How far is he
M%W%Wﬁw?g%? trom the starting point ?

a) 8 .o, a) 8 km
b) 3 fer .. : b) 3 km
c) 6 o, c) 6 km
d) B feh.oi. d) 5km
e) FH U FI3 Al e) None of these
CGP - 17 - 02~  Set-A
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18, 3fe 3*°

£ O (=]
T T T

™ S g™

1

e

1
=(81)"" 3R (10)® =0.0001 j
ad 27° (16)° &1 o F=1 BT ? |
|

|

Iq0FA § G i 420

19. 97 sivft 4 3777t g 2

1, 3, 4,8 15, 27, ... |

IqEd B H I8 T8 |
- https:/ /www. developmdlagroup co.in/

20. U& HH1 & ¢ 864 T sdH AT 4% FI
jchHHEETﬁW% | 16% &1 &9 U & fou

1
18. K 3% =(81)"" and (10)® =0.0001,

then what will be the value of
2218y 9

one of the above

19. The nextterm of the following series is
1, -3; 4 & 15, 27, .

a) 37
b) 44
c) 48
gy 58

e) None of the above

20. On selling a chair for T 864, Anil
Incurs a loss of 4%. At what price

34 @:ﬁm forg o T I=1 =7fRT 2 should he sell the chair to get a profit
H | of 169% ?
a) 864
a) 864
a1 A0 b) 1044
c) 1235 4 c) 1235
d) 1425 ; d) 1425
e) 39U H ¥ FIs A8 e) None of the above
21, 7t — VX _ _3/5:008 3 VX _y
00064 del X T H 21. |f N 0.008 , then the value
a) 0.256 | of x is
b) 0.0256 | a) 0.256
c) 0.00256 u S
c) 0.00256
Gy LLA0E8 d) 0.000256
e) T ﬁ g g e e) None of the above
COP-17-02+ " Page No.9 _ Set-A
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22 17200 &1 18 @ fawrfeid &4 9 I9%d
1 B 72

a) 18
b) 17
c) 2
d) 1

e) 3T H § FIs el

23, &1 HATTd fouq g=Tietl &1 9 33 ®
gad JE 96T B

e) 39U § g &I el

22. What will be the remainder when
17200 is divided by 18 ?

a) 18

D} 17

| c) 2
d) 1

e) None of the above

23. Sum of three consecutive odd

| numbers is 33. The largest number is

a) 9

e) None of the above

https:/ /www.developindiagroup.co.in/

24. G-l &l g H 20% &l fae gl 9 9 &
fdd T 10 ° 5 G-t A4S @e g7 8|

U G-l &1 791 Yo FI1 8 ?

24. When rates of oranges were

decreased by 20 % then a man can
buy 5 more oranges in T 10. What is

the new cost of one orange ?

a) 20.20
a) ¥0.20
b), ¥ 0.40
| b) ¥0.40
c) 0.60 c) % 0.60
d) ¥0.80 d) ¥0.80
e) 39ad 4 H i Jai e) None of the above
CGP - 17 - 02« Page No. 10 Set-A
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25. feum = o | Pyt Y weem fanai 2 2

A

a) 5
b) 6
c) 8
d)y 10
e) 39U H ¥ &T3 Je

26. Fa faa d X #1919 2

S92 {9 2, v @ F o g et 2
a) 1
b) 3
c) 4
d) 6

tps:/ / www. develop:bd:agrogpé €o:

How many triangles are there in the
figures given below ?

5
6
8
1

LR N ]

0

e) None of the above

26. The value of X in the following figure is

b) 731

)
c) 1625

d) 1

e) None of the above

27. Two position of a block are shown below

5
4 | 3
1_/
When 2 is at the bottom, which
number will be at the top ?

a) 1

o G

c) 4

d) 6

IqUed 4,8.F .4+ 8) None of the above
. “BFEBST / www. develapindiadtaup s ik

CGP - 17 - 02
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fAdwr: 19 284 31 & fold ~ Directions : Questions 28 to 31 :

air - Study the following bar chart, which
= SIS A ST T e . represents the income and expenditure of

a company and answer the questions.

3T 3R 9 &l SFTA1 & 3R 9941 &1 3 ST

O AT odYq Oincome  HEExpenditure

e ——— PR A

60 60
60 "
B 50 | E
'/E 40 7 | _=l
0 % - £
7 - w
W 20 - %/ |
12- é |
2000 2001 2002 2003 2004 2000 2001 2002 2003 2004
T4 : Year
28. T 2001 TH 2002 F 9 a9 F1 A= . 28. What is the difference of profit
fFaare ? | between the years 2001 and 2002 ?
a) ¥ 109 a) ¥ 10 Lacs
h) ¥ 20 @ | | b) ¥ 20 Lacs
c} ¥ 2b°g ' | c) ¥ 25 Lacs
d) YA ;! d) Zero
e) ITEd § § &IS e | e) None of the above
https://www. developmdragroup co.in/
29. fohdd a9l O &0l &l ¥ 3|@d ¥ H | 29. In how many years the income of
IO R AR, | company is more than the average
Income ?
a) 1 | a) 1
c) 3 | c) 3
d) 4 | d) 4
e) 3Tad H H F12 & e) None of the above
30. P11 & R ¥ § HalfuE g3 ¢ 30. In which year company has got
a) 2001 | maximum profit ?
| a) 2001
b) 2002 ; vl 2008
a) 2004 | d) 2004
e) 3T 1 J F13 e | e) None of the above
CGP-17-02% Page No. 12 Set-A
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31. g4 2002 § Fra1 Ft 3777 forg ad & =g
F T 2 7

a) 2000
b) 2001
c) 2002
d) 2004
e) 3T H H g 7&

32. U Sl 3 W H Foidl 21 98 U2
30 Ht. I-gfvem | g1 & 3 d" 30 |,
gfaror-afvem o Iad! 21 dcavard, 9@
aferor-qd fawn § 30 . werdt 21 e
98 U T FH TE et 21 I8 frg fem
49 @12 7

a) 3W-ufy=m
b) 34
¢) 2fE-d
d) cfequr-qfr=m

e) U 4 &3 &l

31. In which year the expenditure of

company is equal to income of year
2002 ?

a) 2000
b) 2001
c) 2002
d) 2004

e) None of the above

32. Agirlleaves from her home. She first
walk 30 meters in North-West
direction and then 30 meters in
South-West direction. Next, she walk
30 meters in South-East direction.
Finally, she turns towards her home.
In which direction is she moving ?

a) North — West
b) North — East

c) South — East
d) South — West

e} None of these

https://www.developindiagroup.co.in/

33, fet form 8 W € rforeham 2 7
13 4 1 2
3’(10‘ 20’ 6’ 20

a)

Q0 | —

b) —
g) =

d)§6

e) ;Eqﬁ_aﬁﬁﬁﬁ:lﬁ

o

CGP - 17 — 02+
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33. Which one of the following fraction
IS the greatest ?
1 3 4 1 2

8 20’ 6’ 20

8 10’
a) :
8

b)

N[ a O

C)
K3
20
e) None of the above

d)

Set-A
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e . w934 -38 :
ferferfiaa fersl & i@ A/B wee oo ma 21

e’ & aifhe 3T 4 W S Jd1sd
F1H I IT L 2 7

a) Facd | HATHA 2

Fad || J3gHTHA B
¢) | 3 || F7gETHa 2|

d) 41 | =1 |l 37ETHd 2

e) A 17 Il 31T 21

34, hUA :

A) Tsfi g3 oeF 2

B) =13 TIgeh! Hiad el &l
ey

) T3 BT FHisd A2l 2l
1) F&r o &3 gl 781 2

Directions : Questions 34 - 38 .

Statements A/B are given for the following

conclusions. Examine the logical
application of the conclusions and decide

which of the answers is correct ?
a) Only lis inferred
b) Only Il is inferred
c) Bothlandll are inferred

d) Either |l orllis inferred

e) Neither I norllis inferred

34. Statements:
A) All students are boys.
B) No boy is dull.
Conclusions :
) No student is dull.

II) There are no girls in the class.

https:/ / www.developindiagroup.co.in/

35. &HYA

A) Ts I1 21 ! BT O FHIR T

35. Statements:

A) All employees except one or two

a4 fafsska 2| are slow and inactive.
B) @t FH=Tl g ATeH 2| B) All employees are old man.
ey Conclusions :
~ ) Some employees are efficient.
) FS FHARI FIE 2 ) PIoY
) Some old man are good
FO ¢ AGH Hw FHARI 2 | employees.
CGP -17 - 02~ Page No. 14 Set-A
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36. &hUA
A) TS TSHAT THAL B
B) @i UIee $I 2
e
1) |t T TR A 2|
1) @l ST UeTe FIA 2|

37. h¥YA
eifraifers ea1edl 37¢ Fdd 9rd # J=feld
2
fAemd -
) erfganfees gaal ufvem § T
2|
Hy =rfaanafees gamsar gfvew 4 yafed
TEl 8l

36. Statements:
A) Some girls are pilots.
B) All pilots are efficient.
Conclusions :
l) All male pilots are efficient.

1) All girl pilots are efficient.

37. Statement:

Homeopathic medicines are now
popular only in India.

Conclusions :

) Homeopathic medicines are
popular in the West.

Il) Homeopathic medicines are not
popular in the West.

https:/ /www.developindiagroup.co.in/

38. &hYA

ISR H F@ Ml W HIM 732 21| AR
3 qfl W HEAIE €

ferd -
1) %% gHEl W HEEE €1
H) &8 gl W e amge 748 2

39. S =Sl H @HY 4:20 2 9« e arcfl 93

38. Statement:

Few shops in the market have neon
lights but they all have signboarads.

Conclusions :
) Some shops have signboards.

Il) Some shops have no neonlights.

39. The angle between the minute hand

a9 = Jredl 3 o = 10 gET and the hour hand of a clock, when
the time is 4:20 is

a) 0°
a) 0°

b) 10°
b) 10°

€) 5 6) 5°

e) IUIh H W IS T | e) None of the above

CGP - 17 - 02« Page No. 15 Set-A
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Question numbers 40 to 43 are based on the

uvT e 40 ¥ 43 9 fAraafuig fow wm
ST 31 2 gvl ¥ 3 S ~ diagram given below. Answer these questions.
— |
10\ 7 | m !
I
. > |8 ,) 13 , ! : 6 )13
. |
9 11 14 i | 9 /1N 14
[ 5 \ ; / 5 \
 HAd TFY] F1 A"’ié'a T 2 -+ Rectangle represents males
o Byt farfera =1 wafeid sman 2 .« Triangle represents educated
o g Y&l *I URf¥id Ll ¢ .« Circle represents urban
o g1 9 OIF] F1 eiSta =T & | Square represents civil servants
40. Fadd fra M@ gew e sediagiza ¢ | 40. How many among the following is an
a) 11 | educated male who are not the urban
| resident ?
b) 9 a) 11
C) 5 | b; g
| C
P ' d) 4
e) IWh ¥ 8 HIg e | e) None of the above
41. T 1 @ faat foml w2h o saeas 41 How many among the following is a
i 8 7 fernale. urban resident and also a civil
a) 6 servant ?
b) 7 a) 6
b) 7
cj 10 |
d) 13 ' ) 19
) | d) 13
e) ST H & &I T2 e) None of the above
https://www. developmdragroup co.in/
42, 0w s srffem ey ew ft2 ¢ 42, How many among the following is
a) 12 | uneducated and also an urban male ?
b) 11 I. a) 12
3 @ i b) 11
| c) 3
e | W d; 2
e) I9UF H ° &g Tl | % 3 e) None of the above
43. Fro i R e siwefiem @27 | 43, How many among the following are
a) 2 | educated male who hails from urban
| area ?
D) 4 | a‘{ s
E) 5 r D) 4
4 - 3 3
e) IWiEd § § Ig e &) None of the above
CGP - 17 - 02~ o "~ PageNo.16 Set-A
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For Q.44 - 48 : Given below is the survey

T 44 - 48 % ford l
| record of areas A, B, C and D for five years,
!
|

A B, C a1 D & Uie @8] & &FaN Ga&f0]
fre o aifee | feu o 2 | |l oo
SaT W 1000 99 a1 9fd 1000 wieersl

each area having one thousand men and
one thousand women. The record shows
the number of literate men and women in

&1 {11 2181 9544 & | each area.
oam| TIeEn 2015 | 2016 | LAreasJ:FLrteralles 2012 12013 {2014 | 2015 | 2016
s ¢ 3
\ TEY ) 837 | : . HEN :th} ﬂf 803 | 809 81.}'
afeed 469 WOMEN | 642 | 705 | 778 | 782 | 793
847 | 859 | 876 | 883 | 895 | . MEN | 847 | 859 | 876 883 | 895
B 274 | 821 | 845 | 851 L WOMEN | 709 | 734 | 821 | 843 | 8951
. Ty s68 | 894 | 915 | 935 IF ) MEN | 838 | 868 | 804 | 915 | 93
afeemd | 824 | 813 ' WOMEN | €4 | 813 | 869 | 676 | 908
¥ | 916 | 97 | MEN | 916 | 931 | 947 | 963 | 983
a wfgeATa 885 | 908 : | 7 WOMEN | 885 | 908 | 852 | 917 | 928 '
44 =3 A & gfedraTl & 37Ed Gied] gfeeTa l 44. What percent of women of area A are

1R 7 | literate in average 7
a) 72% 1 a) 72%
b) 73% . b} 73%
c) 74% | c) 74%
d) 70% https:/ /www.devel opfnd?c)ig_%ixp. co.in/
e) T4 9 hls ¢ | e) None of these

45 20123 20131 arercat gfasTd 8 s ! 45 What is the difference in literacy

R ST R ? | percentage of 2012 and 2013
! approximately ?

a) 4.9 | 2) 4.9

b) 8.3 b) 8.3

C) 6.5 I c) 6.5

gl R

o) T g @ T | l e) None of these

coP-17-02- __ PpageNo.17 Set-A
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46. I &1 T T U9 991 &I 9y H fordH 46.

47.

gfaeTd &% Ud Afeci™ Tiaw o 7

a) 88.84
b) 84.88
80.88

C)
d) 86.12
)

e) 398 | F13 I&

a) 87.55

http

s T wfaea Ty amER 2 7 47,

s:/ Iwww. deve10p|1ndia

48. foFm &3 1 ¥Y g gigctiedl &l Ji&edl &

49.

w i w3 7 ;

frrafofag woa ® feo1 a1 gdierw = 49.

o=l & JIa4fEadd 3T g2t 2l S|

gel faere 94 |
543 <812+ 4= 3 (@i ;

What percent of men and women in

the four areas were literate during
these five years ?

a) 88.84

b) 84.88

c) 80.88

d) 86.12

e) None of these

What percentage of men are literate
In average ?

a) 87.55

b) 55.87

c) 87.87

d) 85.55

e) None of these

group.co.in/

In which area has the literacy rate of
men and women increased the most 7

e) None of these

In the following question, the given

equation will become correct after
interchanging two symbols. Choose the
correct option.

5+3 x8-12+4 =3 (equation)

a) —d +
" a) — & +
b) +9 + D) + &
C) +3 - C) +&—
gd) =& & | d) —and x
e) I 9 &I3 &l i e) None of these
CGP - 17 - 02~ | PagehNo. 18 o Set-A
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9y 50 © 54 & o4 -

Ew . fefafga ymd @, ©, $, % a4t #
ydter fare & &9 | w3 foru o 2 ek 3rd
Ei=A-

“A$B FAHAR; A, BE B TR 8

“A ©B’ F AL A, BHIAI BRI 3L
“A@B #F¥IE, A BIAFA IR, A
IR 2

“A# B F AL 2 A, BY TSI TR 2

“A% B F AL ;A BHAATSE, 78
S 2

e IS v °, 7T TR fean man wem v 2
1 377e Shifere fop i fsam |, (a1 5 3 &1
70l ®9 @ g B/, deg®y I AN |

50. YA :
KOP, P@Q Q$R
faerd
1. K@R
. R% P
. Q%K
a) %ad |9 || g9 2
b) Faet Il T 11| g 2

c) &ad Il & &
d) asfi 77 & ;

51. YA :

DOK, K#F, F@P ‘

For Questions 50to 54 :

Directions : In the following question, the
symbols @, ©, $, % and # are used with the
following meanings as llustrated below :

“A $ B” means ‘A is not smaller than B’;
“A © B” means ‘A is neither smaller than
nor greater than B,

“A @ B” means ‘A is neither smaller than
nor equal to B’ ;

“A # B” means ‘A is not greater than B’ ;
“A % B” means ‘A is neither greater than
nor equal to B'.

Now, in each of the following questions,
assuming the given statements to be true,
find which of the three conclusions |, Il and
Il given below them is/are definitely true
and give answer accordingly.

50. Statements:
KOP, P@Q, Q%R
Conclusions :

. K@R

. R% P

. Q%K

) and Il are true
b) Only Il and Ill are true

)

)

c) Only Il is true

None of these

e) T
?nftps [ I WWW. develq>pmdla)group co.in/

51. Statements:
DOK, K#F, F@P

sy | Conclusions :

P@D i . P@D
CK#P | . K&#P

. F$D . F$D

a) Hhad | 9 ¢ a) Only | is true

b) e || T & b) Only Il is true

c) Had || §a 8 c) Only lllis true

d) A 11 TE ||| §F T d) Only Il and Ill are true

e) 30 | FIg AT e) None of these

CGP - 17 - 02 Page No. 19 Set-A
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52. <hYUA :

M@D, DOV, VS§W
ﬁﬁﬁ:
I W@ M

. M%V
. D$W

a) FaA Nl qa Il g &
b) %t |l T B
c) Had |l ga 2
d) Fad | g7 2
e) ¥ | HI3 I

53. YA :

M@J, J $T, TON
ﬁ'ﬁﬁ:
. N#J

. T%M
. M@ N

a) had | 9 2

b) Faet | 9UT || T &
c) |+t g #

d) &ad Il T Il g @
e) 4 8 =g &

52. Statements:

M@D DOV, VW
I Conclusions :

Il WaM
. M %V
. D$W

a) Only Il and Il are true
b) Only Il is true

c) Only lllis true

d) Only lis true

e) None of these

53. Statements:
M@J JST, TON

Conclusions :
. N#J
. T % M
n. Mm@ N

a) Only lis true

b) Only | and Il are true
c) All are true

d) Only Il and Ill are true
e) None of these

https://www.developindiagroup.co.in/

54. /YA :

H%J, J ON, N@R
ﬁ'ﬁﬁ:

54. Statements:

H%J, JON, N@R
Conclusions :

. R%J . R%J
i H@J L H@J
. N @ H . N @ H
a) %add |9 || 99 8 a) Only | and Il are true
b) Fad |9 Il T 8 b) Only | and Il are true
c) a1l g Il g3 & c) Only li and lll are true
d) oxft g @ d) All are true
e) M 4 i3 e e) None of these

CGP -17 - 02 »

_https://www.developindiagroup.co.in/

Page No. 20

Set-A



wamididRg: / / www.developindiagroup.co.in/

q99 &A1 SSﬁSQ%%Qﬁ'EST:
U W99 8 #9419 | 31 || F FriaE &
et fofa o7 graeeft gaen @ g 2 | T

4 g et 3w AT |

a) Il FHadA | AL

b) Il Fad || ATLE

c) A ||l AW &

d) afea 13T

e) AfREMA 13|l A=l

55. &hYUA
THEA & SRF gL dTa d8d 8 714 318
GHE &1 GTHAT Hd 2|
FIaTE!

56.

a7.

) HT &d A g1 T @retl &l
HTEIF 2 |

) ore I e = & R g+
SH T 37 AT AR AT
1ied |

Direction for Q. No. 551059 :

In each question there is a problem in the
form of decision-making followed by two
courses of action numbered | and Il. Give
your correct answer from the following.

If only | follows
f only Il follows

f either | or Il follows
If neither | nor |l follows
If both | and |l follows

Statement :

Many villages face flood fury every
year in the monsoon.

Courses of Action :

) Timely evacuation of the people
IS necessary.

) The government should take
measures to control floods by
building dams etc.

https:// www. developmd:agroup co.in/

HUA ;
gfera 3 et 1 aTfed w2 |
CAREIFARE

) TR &1 I qiAaare & Radrs
F3N Hed 33H TR0
) gfetd a1 1 S H FqeR FH F
fora farfera ean =iz

HeA
Hd 2

HTIETE

) A FEaTE] S AMied |
NECELRCIRERCHECT

56.

a7.

Statement :

The police harass the common man.
Courses of Action :
) The government should take firm

steps against the erring
policeman.
Il The police force should be

educated for public dealing.

Statement :

The younger people do not look after
their elders.

Courses of Action :
) Legal action should be taken.
II) Old age homes should be opened.

CGP - 17 - 02

Page No. 21
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58. wYUA : 58. Statement:
TG W E A F R T School uniform is a burden on the
poor parents.
HTAATEY Courses of Action :
) ﬂﬁaﬁ_mﬁ%f@@ﬂaﬁ@ﬁg ) Poor parents should stop buying
SmrETE school uniform.
. ) Schools can provide subsidy on
Il) ¥t &1l ?{HWE&E%EITF%&H school uniforms.
59. &HYUA 59. Statement:
IR 9] &1 9918 9 3=e 3xmes o Trade unions slow down the
FHT 37T 2| | industrial production.
HIAATE Courses of Action :
) STYR T 9T Yfda=4 1 ST [ l) Trade unions should be banned.
) 3feNfie 3wEal § AN 1 3RS Il) Industry should employ persons
TR <t =TTfed | on temporary basis.

= ﬁq!,;%t#;sﬁ / / www.devel Opindia%rou!i). co.in/

60. TheTwo missing numbers (7, ?)inthe
following series
11,13, 17,19, 23, 2,7

11,13,17,19,23. 7, 7

" faga wEn g (7, 7) are respectively
a) 27 d91 29 a) 27 and 29
b) 31 471 33 b) 31 and 33
¢) 31a9135 | c) 31 and 35
d) 29 T41 31 d) 29 and 31
e) 3IH ° &3 & e) None of these
61. Tr=ferfaa sof 61. The missing number (?) in the
11,7, 20, 12, 38, 2, 74. 42 | following series
H foera v (7) € 11,7,20,12,38,7,74,42is
a) 32 | a) 32
b) 28 b) 28
c) 26 | c) 26
d) 24 d) 24
&) TH 4 I3 e) None of these

CGP-17 ~ 02 Page No. 22 : Set-A
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62. 10 du1 120 & o= o UHt TR, &1 7

§ qof fasford 2t @ qen fom ot off
TIH T 1’ &1 376k 37Td1 8, hl U1 8
a) 3

b) 4

g) B

d 6

e) H ° F13 FAi

63. I 0, 1, 2 TTE WM FTell Fe=l T

T ﬁrmﬁﬁwaﬁ (3711 it g =
Gohdl 2) 1 TN &

a) 63

Bb) 91

c) 96.

d) 99

o) TH A FE AH

64. néta?aﬁtfli-% //‘Qllmomq%e ?Vel

130 126, 110, 78, 10

‘a) 78 '

b) 110

c) 10

d) 130

e) 39 U F1s e

65. P,Q,R S, THH®H AGF HA T 2
FAF A G IR A AA A ES § ¢
) Q, R % dhTet 2Tfe a0 2
) T,P3MR& IF a2 |
I Q RIS FIF gAH 2 |
a)
)
)
) S

d
e) FH & FT1g

62. The number of numbers between 10
and 120 which are compietely
divisible by 7 and which consist of
the digit ‘1’ in any place is

a) 3
b

O
On

Q

) 4
)
) ©

e) None of these

63. The sum of all the significant two digit
numbers which are formed by the
digits 0, 1 and 2 (repetition of digits
allowed) is

a) 63
b) 91
C) 96
d) 99
e) None of these

opmdrageroupé. co.in/

64. One Term in the following series is
wrong. What is that term ?

130, 126, 110, 78, 10
a) 78
b 110

)
c) 1
d) 130
e) None of these

65. Who among P, Q, R, S, T is in the
exactly middle while standing in a
line ?

) Qis to the immediate right of R
) T is exactly between P & R
) Q is exactly between R & S ?
a)

=

!
|

Q O

)
)
)
)

e) None of these

car-1hbEpPs: / / www. devedowipdiagroup.co.in/
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66. afe IR °gfedl § ¥ U weds 30 fae o,
T uRE 45 e |, fied voE @

- 66. |fthere are four clocks, one ticks after
|
| _ . .
- : N : | after every 45 minutes, third one ticks
T¢ 45 e © aun el w15 oA d ry
|
I

every 30 minutes, second one ticks

_ after every 1 hour and 45 minutes
fos 1 o7 Tt € 1 Fmo' o {1 and fourth one ticks after every 15
gUE 12.00 s &tdl 8, a1 o7vredl fown minutes. They all ticked together at
F I U Gy Hd FIAT 7 1 exactly 12 noon. Then when will they
. | tick together next time 7
a) 9.00 AM
a) 9.00 AM
\ 7 ‘
P) 730 P i b) 7.30 PM
G HLIDAN | c) 10.30 AM
d) 10.30 PM ! d) 10.30 PM
e) 3™ T &I =gl | e) None of these
r:r f _.' = | = 4: Jr—_' f fors e
67. MH 7 + 1/55+ B9+ 133+ 4121 67. Value of 117+ 1/55 +/69+ 4133+ V121
FOH is
|
|
b) 7 | b) 7
c) 8 c) 8
d) 5 ? d) 5
o |
e) 39 ° &3 &l | e) None of these
https://www.devel opmdmgroup. co.in/
n . 3 n. m% o \ 3
68. aR 2 }‘“3’5 (E?) =27 49 n &l - 68. |If 2 ”(247) =27 then value
3 < (81) ! 3% (81)
H 7 E ofnis
|
a) 0 | a) 0
b) 2 b) 2
c) 3 § c) 3
d) 4 _ : d) 4
e) T ¥ F13 T | e) None of these
CGP-17 - 02« Page No. 24 Set-A
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U5 69 — 73 & 70 ; For question from 69 — 73.

 oifde s vE wEH T 100 BT & I
arferat 8 20 &, 3emaa FL ygal &1 I C |

Study the table of 100 students based on
the marks by them in physics and chemistry,

answer the questions.

Marks

out ofl 40 and |30 and |20 and |10 and |0 and
50{ Above | Above | Above | Above | Above |

. |Physics 0 32 80 92 | 100
|
|
| Chemistry| 4 21 66 81 100
|
|
Average 7 27 73 87 | 100
|
I e

| 69. The number of students scoring less

a) 13 | than 40% marks in average is
? a) 13
b) 19
c) 20 |
d) 27 d ]
s:/ | www. de\l/ ( lrlrgi up.co.in/
e) 34 ‘!)ﬂg?te elop ér’gesup
70. oifas I ° 60% AF 3=9 37837 7 70. If at least 60% marks in physics are
EF 8. fhay o e s 8 3= required for pursuing higher studies in
* : hysics, how many student will be
fret ¥ A 8 7 . pysiEs g o
| eligible to pursue higher studies In
a) 27 | physics 7
b) 3§ a) 27
b) 32
c) 34
i c) 34
d) 41 | d) 41
e) U U &l A8 | e) None of these |
CGP - 17 - 02« Page No. 25 Set-A
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71. @0 g ° frdar 3 2, S11 30 9
3% ° WEH 9 4 3] 8 R e S

30 37gd o o g 2 7

72. sl A g fFad gfe g 2 @ #9 4 #9
60% & T I § 9T hid 2 U]
378 S 3T 40% T 4 ? |

a) 21%
b) 27%
C) 29%
d) 31%

71. What is the difference between

number of students passed with 30 as

cut-off marks in chemistry and those
passed with 30 as cut-off marks in
average ?

a) 3
b) 4
g) &
d) 6
e) None of these

72. The percentage of number of
students getting at least 60% marks
In chemistry over those getting at
least 40% marks In average

a) 21%
b) 27%
c) 29%
d) 31%
) None of these

ﬂf‘? TTwww. develo):)mdragroup co.in/

73. WWH%IW%@ 23 JTH1 I
2 | e T v | fean ave farm i
1 It 2 e o § 2

23 Students were eligible for a
symposium in chemistry the
minimum qualifying marks in
chemistry for eligible for symposiums

a) 40 - 50 would be in the range
b) 30 - 40 a) 40 - 50
| b) 30 — 40
R - c) 20 — 30
d) 20 ® %7 d) Below 20
e) TH § &g & e) None of these
74. f 2 6 y = X2 + 6x + 15, y &1 ZaT 74. Giventhaty = x? + 6x + 15 minimum
e | value of y
a) 108 a) is 10
h) 1272 b) is 12
c) 158 | c) is 15
d) frutfa 38 e <1 9= d) Can not be determined
e) I8 ¥ &I3 e e None of these
CGP - 17 - 02~ Page No. 26 ~ Set-A
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75. %mwﬁ4€raa?|@ﬁqﬁ3mﬁ
AT A 2 | 391, 377 - T8I
ﬁﬁﬁﬁmﬂmwm‘%?

a) 9
b) 12
c) 24
a) 27
e) TH | I3 &l

76. TF AN § 53 IHAR UG FH h
%ﬁﬂﬂ%ﬁmé?

a) 5
)

b) 2

c) 1
d) O
e) 399 g i3 Jgl

79.

/6.

There are four hotels in a town. 3 men
check into hotels in a day. In how
many ways all of them can check into
difterent hotels ?

a) 9
b) 1
C) 2
d) 2

e) None of these

In how many ways a leap year can
have 53 ‘Friday’ ?

a) 63

b) 2

G) 1

d) O

e) None of these

https://www.developindiagroup.co.in/

77. #vil 1 < g vfawe Fifsu |

165, 195, 255, 285, 345, (?)
a) 453
b) 455
c) 535
d) 375

e) 38 | s el

78. f=fcifiga v @ Fiva, 3= 9 sam @ (3R
24l 7
AT et — AT, IR - geUaTe,
TR 31E Aol — qrarg, Tied 3T 3foean
- T3 E(’Q’ﬁ, JATTET ey —H‘:P[

il

78.

Insert the missing number of the
series.

165, 195, 255, 285, 345, (?)
a) 453

)
e) None of these

Which of the following is different (if
any) from the other ?

Red Fort — Agra, Charminar -

Hyderabad, Jahangir Art Gallery —
Mumbai, Gateway of India — New
Delhi, Aghakhan Palace — Pune.

a) Jahangir Art Gallery — Mumbai

b) Red Fort — Agra

c) Aghakhan Palace — Pune

d) Gateway of India — New Delhi
)

e) None of these

CGP -17 - 02
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UTe 91 HIT F 798 83 A% & UV F1
'ﬁﬁé:

A 5 @Tﬂé%ﬂjﬁ

B —» &S &1 oA

C 5 34 {Eitf

D tafee

E_, {93199 &1 @4

F_ Nce @ &1 @9

Study the Pie Chart and answer the
questions 79 - 83 :

A — Printing cost

B —» Cost of paper

C — Miscellaneous

D — Royalty

E — Advertisement charges

F - Binder's charges

https:/ /www.developindiagroup.co.in/

79. Ie AW @4 5. 6,000, 99 a4 =1 @4

79. It the Miscellaneous charges are

= Rs. 6,000, the advertisement charges
are

a) %. 9,000 |
| a) Rs. 9,000

b) &. 27,0 |

) - ‘ b) Rs. 27,000

I

¢) ®.1,333.33 i 6] HS. 1,333.33

d) %. 15,000 | d) Rs. 15,000

e) 4 9 &13 & * e) None of these

CGP -17 - 02 Page No. 28 Set-A
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80. I VIS 1 WA %. 17,500, d9 TUFK
ARG

) %.7,500
b) ¥. 40,833.33
)
)

a

c) ®. 15,000

d) ®. 750
e) 399 g i3

81. F-219 FIU T 37V folee 719 & @ T
a) 36°

% @9 W 37+ 2 FrS

& ToF & &I

d) 54°
e) 394 ¥ s J&i

80. If the cost of printing is Rs. 17,500,
then the royalty is

a) Rs. 7,500

b) Rs. 40,833.33
c) Rs. 15,000

d) Rs. 750

)
e) None of these

81. The central angle of the sector for the
binder's charges is

a) 36°

b) 64.8°

C) 54°

d) 20°

e) None of these

82. The central angle of the cost of
printing is more than that of the cost
of paper by

a) 25°
b) 44°
c) 90

d) 54°

e) None of these

https: / / www.developindiagroup.co.in/

83. Afe gryul faskg Yo feramall 1 %. 97,500 2
g 30% 3earEd &1 et mive @ a9
TR & @1 ¢

a) ®. 14,625

b) %. 5,000

c) ®. 6,500

a) ‘¥. 15,250

e) 3H ¥ FHIs 9]

83. If the total sale of book is Rs. 97,500
Including 30% profit on the

production cost then the royalty is

a) Rs. 14,625

)

b) Rs. 5,000
) Rs. 6,500
) Rs. 15,250

C

d

e) None of these

CGP -17-02 =
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84, ‘7 @el 3R fiftw’ frm e @ waiferd @ 7
a) TV TARTHRTA

b) HTHRI ViRt
c) AUl wiTsTehTe
d) qot sfeeaerra

8) AUl YAt

85. ‘TR IIeg W AT UG B 7
a) 9
b) T
C) R
d) aTF

e) 398 O &g T

86. fafafad & @ =199
gqr AEi e v

a) HTE
b) TSHI

c) '@ITI'{
sqﬁzmé
hgtps // www.develop

87. ‘F3el H I YT 2 7

FAdTIF

3o oA

89. fine o weraTel § SHat] &1 s1y+ &l Tl
FIRTFET A S 7

e) TAH ¥ I3 el

01. gfg Try e T AT I FEATA B-
AR YTT H 7

JicqThl

mdlag}% co.in/

a) ol C)

B 3 d) mﬁﬁ

¢} F e) 394 | =lg TE

d) A3 _

e) SH

92. ‘fr a1 foa urgat et Al ¥’ SAreRIfE

88. gﬂﬁfﬁﬂﬁﬁms 52 fstamee g =7 37 2

!

2) A a) TRHH 1 B TEL I § a2

b) FTE b) wftsmm &1 Hel Favd fHerdn 2|

c) dal c) TR 1 B wefl-Feft firetar 21

d) qHd d) gftsm =1 et 9 | ferar 2

% W= e) 398 ¥ I3 &I
CGP -17 - 02 Page No. 30 Set-A
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97. ‘TEm’ 1 waiEETe T

93. ‘I &Y @d FAAI B TR F feTu Hrefeh

7182 &1 fashed A
a) Ffaerh
b) 3Tt
c) 3Tdeadl
d) Terdes
e) 38 Y I 78]

94. ‘STefd o w1AEl Gl 2 7
a) faam gy
b) =g<i4 Gfy
c) & gy
d)ﬁ'ﬂ’fu‘ﬁl

a) VT

e 3IH 4 &3 TE

https ITwww. devellopmdr 1aiagroup. co. in/

05. ‘&M FaAl 1 HY B

FEd 2 7

a) A AN a) @EtETe fedl &
b) T 3 f o) fe drm i g et A
c) Sg-2HT FHI c) et a3 it Iw Sife Tl &
) el ; 9w B2 & & A el s
o) ¥ & A
06. ‘3@ # Y TS F T AFIFT F1 G ' . |
3e 2 - 100. 11 3fsan 1 959 |/ ST A
a) U1 o fa%g A 1 BT ; a) 3fzAHTe
b) fret ot it fSrert =1 7 g b) 3fsasfa
c) Y@ YFdmM c) SeBIYRI
d) i =i d) -3fsardid
e) 38 ° FI3 TR e) Wﬁaﬁé?{%"f
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